DATASHEET | <>rsbp

we limit risk

EXPLOSION VENTING DEVICE VMP F

It is a safety device designed to relieve and release an
explosion that might occur inside the protected equipment,
where there is an environment with a risk of explosion. Under
normal operating conditions, the relief area on the protected
equipment is covered by VMP F. If the p_ s exceeded
during an explosion inside the equipment, VMP F will open,
thus releasing the pressure from the jeopardized area.
The equipment will be exposed to a pressure lower than its

pressure resistance.

This data sheet describes the technical parameters of VMP F.
These VMPs have a single-layer construction and are flat.
They are manufactured in a rectangular design and they
are in accordance with EN 14797 and European Directive

2014/34/EU.
VMP F CLASSIFICATION
Equipment group [l
Explosive atmosphere D
Equipment category, indoor/outdoor 1D
Operating temperature -40 °C to 100 °C (can be expanded to -50 °C to 150 °C)
Storage temperature -10°Cto40°C
Standard static opening pressure* 10 kPa +/-15%
* Can also be supplied with a different static opening pressure
MATERIAL DESIGN
VMP Stainless steel
VMP sealing EPDM (alt. exp. silicone)
OPTIONAL ACCESSORIES
Opening indicator Cable (G1), magnetic (G2) or additional (G3)
Intrinsically safe relay It is used to create the interface between the safe and dangerous zone
Thermal Insulation Synthetic rubber-based foam

Screws - (strength 8.8 or A2-70), nuts IS0 4032, washers I1SO 7089

Fasteners (all in galvanized finish or stainless-steel design)

RSBP spol. s r.o., Pikartska 1337/7, 716 00 Ostrava, Czech Republic Page: 1/3

ﬁm dIMF@ FD ion protection phone: +420 596 252 170, e-mail: rsbp@rsbp.cz, www.rsbp.cz/en
X\O % F t JO VAT: CZ45196508 DS_VMP-F_11-2022_EN_Rev0



<&I'Sb|:| ‘ EXPLOSION VENTING DEVICE VMP F DATASHEET

we limit risk

DIMENSIONAL DIAGRAM

Max. 5 mm

INSTALLATION VARIANTS
Installing with bolts

@L2 PL

4) (5 1

IxJ

-
i,

&

N
Wy

HxG

Installing with welded screws

' For the installation of VMP F, the flange of the
protected equipmentmust meettherequirements of

standard EN I1SO 13920-BE and must be sufficiently
rigid. In case of mounting on insufficiently rigid

equipment, it is necessary to provide the flange
with additional reinforcement.

The diameters of the holes in the flange of the
protected device for M10 screws are @12 mm, for

M8 screws are @10 mm (EN 20273).

Position Components Quantity
1 VMP F 1

2 Universal opening indicator holder 1

3 Protected equipment” 1

4 Nut ? see?
5 Washer? see
6 Screw? see?d

2 Material - galvanized steel or stainless steel
(screws strength 8.8 or A2-70).

¥ Number according to technical parameters table.

RSBP spol. s r.o., Pikartska 1337/7, 716 00 Ostrava, Czech Republic Page: 2/3

Fim dIMP@ ?D ion protection phone: +420 596 252 170, e-mail: rsbp@rsbp.cz, www.rsbp.cz/en
XF %! F tecti VAT: CZ45196508

DS _VMP-F_11-2022_EN_Rev0



we limit risk

®rsbp ‘ EXPLOSION VENTING DEVICE VMP F DATASHEET

TECHNICAL PARAMETERS

0'GEs 144 7l 86 OLW | 00LL 8l 0¢6 08L | 00LL 6 0.8 08l | 060¢X060L | 000cX000L 00°¢ 000Zx0001L
0°9L9 144 ¢l 9¢ OLW | 0°0SL 6 000L| O'LG | 0°0SL g 0°0GL | 0°LG | c0GLXc00L | 0EYLX0EL ee'l 0771X0%6
009G 144 7l ¥4 OLW | 0°00L Ll 006 0°0c | 000l Ll 006 0°0¢ | 0¢clx0cel | oelLxoell 8L 0€LLX0ELL
¢'06G 144 7l ¥4 OLW | 9°L0L Ll ¢ 9L 89l | 9101 Ll ¢9L 89l | c0clXc0cL | 8LLLX8LLL GC'l SLLLX8LLL
L'10§ 44 7l o OLW | 0°L0L b 040l | 08l | 0°Z0OL 6 0401 | 0'8L | 90LLX90LL | GLOLXGLOL eo'L 0zolLxozol
G968 a4 7l 4/ OLW | 0°GOL 0l SlLL| G4L | 0°00L 6 G'Z8 G'LL | €0CLX000L | 8LLLXGLH 0L 8LLLXGL6
0°¢es ¥4 ¢l 8¢ OLW | 0°L%L 9 0Lyl | GLL | O°LYL 9 0Lyl | GLL | ¥901X%901L 966X966 660 o0ooLxoo0l
G'ZsY 44 71 (014 OLIN | 0001 6 068 | G'ZL | 000l 6 068 G4l | G00LXS00L Gl6XGl6 €80 026%0¢26
0°009 144 7l 9¢€ OLWN | 00LL 8 046 | 08l | 00LL 8 0°LL 08l | 000L*096 016X0L8 6L0 016X0L8
068G ¥4 7l e OLW | OGLL 6 0%LL| 0Gl | 0°GOL 9 0°G0L | 0GL | 8LLLXG9L 001 1XG89 GL°0 00L1X589
006G ¥4 el 8¢ OLW | 0°00L 0l 068 0'GL | 000l L 068 0'GlL | 00LLX008 0¢01X0¢L €L°0 020LX0ZL
07ee 8l 6 0¢ 8N 0681 € 068l | G696 | 0°G8L € 068l | G99 £G8XEG8 06LX06L 290 008X008
0°00S a4 7l 44 OLW | 0'8EL 9 08cl| 0LL | G191l € G119l | 0°ZL | 000LX089 806X88G €60 806X88S
G'¢8y 44 7l 7€ OLW | 0°00L 6 068 0Ll | 000l 9 089 0°LL | GOOLXLLY GL6X18G €50 026X98S
G'G9y 144 7l 0¢ OLW | 0°00L 8 7'66 L9l | 0°¢Ol g €0l | L L E6X8G9 1 G8X8LS 670 1G8X8LS
0°G8Y% 44 7l 8¢ OLIN | 8 0%LL| 0GlL | O°LOL 7 0¢colL | 06l 0L6XLES 088XLYY 6€0 068XLSY
50°0- 0°69¢ 144 7l 8¢ OLIN | 0001 L 086 | 0°ZL | 000l g 0¢L 0Ll 0€8X085 0G4X008 8¢0 06.X00S
0°06¢ 8l 6 ¢ 8N 0oLl g 00LL| 0GL | 00OLL g 0oLl | 06GL 069%069 019x019 LE°0 0L9X0L9
0°0G6% 0€g 7l 144 OLW | 0°9¢CL 9 00LL| 0Ge | 0°Gel € 0'G6cl | 0°G¢ 006X08S 008x0sY 9¢°0 008X0SY7
08¢t 8l 6 91l 8N 008l V4 086 085 | 008l K 08§ 08§ 9G9%X9G9 06GX06G Ge0 009X009
0Gve ¥4 7l ¢ OLW | 0°00L 9 000L| OGL | « V4 0G0l | 0GL 069%08S 0L9X0LY 620 0LYX0L9
G'9¢ee 0¢ 7l 9¢ OLW | 006 9 006 S§'le |« g 006 G'le ELIXELS G8GXG8Y 8¢°0 065X06Y
G'¢8¢ 144 7l 144 OLW | 0°GOL S 0'G0L| 00C | 0°¢o i 0¢6 0°0¢ 049%00S 088X0LY 7¢°0 0l¥%X08S
G'96¢ 144 7l 8l OLW | O°ClLL S 0¢LL| 69l | O°LLL 14 08LL | 09l G0LXG8E G0EXGZ9 610 0LEX0E9
oole 144 7l 0¢ OLIN | 0°9LL 9 09LL| 00C | O°LLL ¢ 006 0°0¢ ¢G8X1€EE 29LX1Y¢ 8L°0 29LXLY2C
0'GY¢ 8l 6 cl 8N 0°0SL ¢ 0°0GL| 0°0C | 0°0GL 14 0°0SL | 0°0¢ 06%%06Y 0L7xoly L1°0 oLyxoLYy
79e 144 7l 0¢ OLW | 0°00L g 06 761 | 000l € 06 191l 68GX¢8¢E 006X00€ Gl0 00SX00€
G0LC 144 7l 8l OLW | 0°LOL V4 0¢0l| 04l | 0cOL € 09L 0LL ¢76%X06€ ¢S7X00€ 710 LS7XS0€E
0691 144 el 91l OLW | 0°00L v 066 00c | 00LL 14 000l | 00¢ 8EGX0GE 8G7X0LC ¢l0 8G7X0LZ
0°69¢ 44 7l 8l OLW | 0'86 g 086 00c | 088 14 006 00¢ 8C9X80€ 07SX0¢¢ ¢L0 0%76X0¢2¢
0°GLe a4 ¢l 91l OLW | 0°00L v 00LL| OGL | 008 14 00L 0GlL 0GGX0SG¢ 0L%7X0LL 80°0 0LYX0LL
G891 ¥4 ¢l cl OLW | 0°¢OL 4 0'col| S¥lL | 0°¢Ool 14 0eol | §7L LEEXLEE 092X09¢ L0°0 092X092
Gyl 8l 6 7l SN 0¢0l € 09L Gl | 076 14 0°¢6 Gl G8EX60¢€ G6CX61¢ 900 G0€X622
GvGl 4 45 145 OLW | 076 4 0°¢é AN 14 0°¢c6 Gl 60€X60¢€ 6LEX61¢ GO0 622X622
[ww] | [ww] azis sajoy jo sa)oy jo [wuw]
[“eq] Al 119 A | mossg | BUP2IS | joquiny Bueds | | quny [ww] 9XH
winnaen | [ gl Do aenl hed ._mum.w:_m_u uww““_n_hwﬂ_ mm.mm.ﬂhg suolsuswig
XeN " dIWA 3Y3 Ul S8)10Y / SM3JIS [ww] : . [uw] @ Y 19InQ | uoisuswip
E| ] 310H

" Contact the manufacturer for more information and another dimensions.

Use screws (IS0 4017), flat washers (ISO 7089) and nuts (ISO 4032) to secure the VMP F.

Comply with a bolt torque of 15 Nm (M8) and of 21 Nm (M10).

The diameters of the holes in the flange of the protected device for M10 screws are @12 mm, for M8 screws are @10 mm (EN 20273).

The values of maximum vacuum are for VMP F with a static opening pressure of 10 kPa.

22
™o
s &
g Z
D._.r_,
o~
o~
o
N
)
|
L
]
o
=
V,
)
[m)]
=
- c
S 0
2N
ICAN]
-
krwb
[
o3
g
>
o .
SN
0 9
° 5
o
ISE
©°®
-~
o B
= C
S
el
— E
@ I
T o
Lo
g
= o
a o
NS
=
= 0
0 o
oo
AT
a + 3
[N
a g9
o
WV c <
x o=

fire and aX\oEogion \orota(fciov\



